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X CondtAteveaf d\\bh“o\ﬂrlo\q) Polsban

8. Let X; and X5 be independent random variables such that for ¢« = 1,2, the distribution of X; is Poisson
(1:). Let m be a fixed positive integer. Find the distribution of X; given that X; + Xo = m. Recognize
this distribution as one of the famous ones, and provide its name and parameters.
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Problem 4 (conditional probability)
Two jars each contains r red marbles and b blue marbles. A marble is
chosen at random from the first jar and placed in the second jar. A
marble is then randomly chosen from the second jar. Find the probability
this marble is red.
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_exfedallon queow

An urn contains 90 marbles, of which there are 20 greens, 20 blacks and 50 red
marbles. Tom draw marble without replacement until the 6! green marble.
Let X = # of marbles drawn. Example: GGGBRBGGBRG with z = 11.

Find E[X].
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